1L.EBTE 33 91%
2500 i 1 3%
3.RE NIBREE 1 3%
4. BRIFEMED 1 3%

30
3% %

» LERETAE

= 2.3y TS

= 3.5E SRR E
= 4. HFigEpsE

(1% (BRERELEIEEE

¥.5) 17 52%
(2)ELAFERPY ( ZHEEEAN ) 2 6%
(4 FEEFIHLE 6 18%
(5)8l=E 2 6%
(7)EMEEREBR T —E D) 6 18%

= (D)3 (BEfEREMEREED
= ()BURERM (EREEAD

= (4)FFERIER

= (5)AI3E

= (7)ELAGERIAR T —RE )



B
=kl
il
il
i

FhiTEE P

L]
=53

1 100.00%

(7) B (EEREIR N —E®)

1.HBFI4RERPY 2

10.Z (&) B0 2 6%
2. (T EERFY 1 3%
20. Z AR EFY 1 3%
22 EAtERFY ( SARABEPFS B TER T 18 53%
3. FEFEERFS 6 17%
7. ANNEIR/EANIEBFT 2 6%
8.4 /IS ERFY 2 6%

= LEE IR

3% - 10 B () EF
3%
\"} o 2T
« 202 R HIPY
« 22 ELHERPY (AT AR
T)
« 33T

o 7 ATTE IR

= 8.4 /IR P



111

A ZFT ¢ BRAEIEEE R

ERRLAmEm
il

EiaE
SR FEEM
B
EEs
B BER
B
EBEBTEER ?
EEs
BER
EmE ERA
B
BSE
Es
Es
BB BERY

I5H I = B2t
1.2 2 6%
2.5 32 94%

40
40




13. 5%  RIBRFMARFEEM)

14. 7 BEARFEZE(N) 1 3%
16. (B Z(P) 1 3%
17.BERERAE TIERIFEQ) 31 91%

= 1333 ~ B AiTissE(m)

= 143 ARFE(N)

= 16. 5 3(P)

= 17 B3R IR Rt s LIRS
(@

1.4 =122, 0007c AT 1 3%
10.49F# 1 =%%46,00170 249,0007C 5 14%
11.4937 =1£49,00175 252,0007C 3 9%
12. 4 =#%52,00170 2 55,0007C 2 6%
13.49% =155 00175 260,0007C 2 6%
14. 493 =160,001 7T £ 65,0007 2 6%
15. 4931 =165,00175 2 70,0007C 3 9%
17.493 =1£75,00175 £80,0007T 1 3%
21. 4% =#95 00175 £ 100,000 1 3%
5. 4)Fr =%£31,00175 £34,0007T 1 3%
6. 493 =1%34,00175 2 37,0007 1 3%
7. 43 =1£37,001 75 £40,0007T 5 14%
8. 4Fr=1£40,00175 243,000 4 12%
9. 4)Fr =1£43,00175 £46,0007T 3 9%

= LEYHTEE$22,0007C LT

= 10.4$ 2 %46,0017T. 2 49,0007C
= 11.49%1 2 %%49,0017C £52,0007C
= 12,45 22152,0015T 455,000 7T
= 1345 Z21#55,0017T £ 60,000 7T
= 1448722 #460,001 7T % 65,0007
® 1545 22165,0017T 42 70,000 7T
® 1745 22175,0015T 280,000 7T
= 2141 E1#95,0017T 2 100,0007C

S,

Yy
y/
i

| |

= 5.7 52 1$31,0017T: 234,000 7T

Fa4H




1IEA

2175 - (FFIEBR LIEBIXA) 2 6%

(10)E/{ L%

N

= LA

1 3%
(11)EMFR 1 3%
(13)F%& 1 3%
(14)5rE™h 2 6%
(15)5Emh 3 10%
(18)1E =% 2 6%
(2)#rdtmH 7 22%
(22)7% 0 % 1 3%
(3)y&adt™ 4 13%
(4)tkE ™ 1 3%
(6)FT 1T 1 3%
WEES 1 3%
(8)ya4m 6 9%
(9) %% 1 3%

3%
%

%

Ve,
/.

FS5H

= 258} - (FEHEIRTAEESU)

= (10)#1EM%
= (11)EHG%
= (13)55%

= (14)&
= (1) e
= (18)f( %
= (2)FrdETT
= (22)8H%
= 3)& ik
= (4)BkEETT
= (6)HT T



(DM (FE - BRPT - KR )

2 100.00%

BT

1.EED

1 100.00%

=i EIE = Bt
BEB 17 50%
R EBN 1 3%
FEEBER 14 41%
=il 2 6%

= HHB

= 2 HED

= JEHEARD
LR =i



i

A ZFT ¢ BRAEIEEE R

i

1.5 - ABEER

yREAVACIE-YSES=TPNT 15 17%
3RAEIERE 14 16%
4RINERER 22 25%
5.4t ENES) 7 8%
8. & LR - R#EEE 1 1%

» LESERIE - ARSI
= 2T RS R AR
= 3N EHRIE

= AR EE

= 5.4 EEE)

= 8 LHRTS  IRERE

1L BERERET]

10. B LEEEESHEN 14 14%
11.5888E N 2 2%
12.54th (FBREER E A A 2 2%
2T BEERE 7 7%
3 ABREHEE 13 13%
4. B E1ERE 10 10%
5. R AR R EE 17 17%
6.BIHTBE 3 3%
7.1k - SEERAEEEER 6 6%
8. BB FEAEE 1 1%
9.9MNBEES 3 3%
HE AR BEN 1 1%
HE BERIIE KR RE AT 1 1%

» LR ERE S

19 3% 1%1%

= 10 FESEIR A AE
= 11.58EAE ]
s 12.EA (GERCHREMA

fir)
= 2FHEERERE S

= 3 AT EIAE

= 4 ERETERE

F1H



1LBERER

10.BEEESEEN 1 1%
11. 558 1 1%
2I5EEEE 18 23%
IABEEEEE 12 15%
4. BB E1ERE 10 13%
5. I RE R R BE 15 19%
6.EIFTEE 1 1%
7. 1FcE EERESEEERE 10 13%
BB FEABEN 2 3.00%

3%

1%§

<

fere

ES

8 H

= LIEIEERES)

= 10.B54HEE B RE T

= 11GHEIRES)

" 2FFEEERES

= 3 ABRH BhEE

= 4B TERE

= 5.FRERAE

= 6. AL

= 7. ARG - R R

2
AE

111

A ZFT ¢ BRAEIEEE R




i

A ZFT ¢ BRAEIEEE R

i

1. BEPF 4 11%
13. T 72E8FH 1 3%
14 2R E MR EIEPT 1 3%
16.EA B2 EAPT 1 3%
17. BB ZE 42T 6 16%
18 fT AR X ERPT 1 3%
19. R4EEFY 1 3%
2. 2T B2 P 1 3%
242 BEEBERK 6 16%
43851 28F9 3 8%
5.8 RITHRREER] 4 11%
6.[B1EEEFT 1 3%
7 EEREIEEM 5 14%
8. 5EEM 1 3%

» LEEE

= 13 Tf2EEf

3% ° 39 = 14JRER AL A EIERRT
= 16. B EA

. = 175485 R 2R
= 18 1t e IRAE LA
= 19.[RAEERFY

\ - 2 (7P
- 20 TR
- 4.
" S ALE T AP
- 6. P
- 7. R
- 8P

LEME - MBWBEWEFEERT

2.EME - BEEAIEHER 13 36%
3.BRIKRFZE 2 6%

‘ - LERSE TSR AR T
—H)

= 2.0EEE - EfEAR AT

F9H



Wax
ﬂ%@&ﬂ 2Fh
EEm B BN EREN

¥ﬁ%%ﬂ: |

ZEEMR
mﬁﬁ%hZ%
(EBRERRIZE
KEEX R A BT
Bt -
EETERpFEEENTSEE
RSB
o [ BB 2 K TR BB
SRR E AT RERES
TEZRER
CM£F|
S EERBMNRP LB
MEBRZERE

BaEEHER
KR ERBRE A BRI R EBEARAT
BEECEL L

ETEMER

F10H



